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BIOLOGY (Theory)
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(iv) & 4 E¥TF §, T 53 G KRG GH-GR a7 T &Y & AHilsa

g 1

General Instructions :

(i)
(i)

(zit)

(iv)

All questions are compulsory.

This question paper consists of four Sections A, B, C and D.
Section A contains 8 questions of one mark each, Section B is
of 10 questions of two marks each, Section C is of 9 questions
of three marks each and Section D is of 3 questions of five
marks each.

There is no overall choice. However, an internal choice has been
provided in one question of 2 marks, one question of 8 marks and
all the three questions of 5 marks weightage. A student has to
attempt only one of the alternatives in such questions.

Wherever necessary, the diagrams drawn should be neat and
properly labelled.



iEDUBRDSS:

www.edugrooss.com

WISDOMISING KNOWLEDGE

1.

3l

9.

SECTION A

FA & AfVFHT F TEH I IR0 F OAMT ST g 2

Why is banana considered a good example of parthenocarpy ?

AHa YRR 7 fooeh (wfer) & @ - i aasy |

State two different roles of spleen in the human body.

S 3UF A Y # orfm (UWTd) We B o | T AT $ uE I o
¥ g ST G AN | 3 e fGdvs (22) SH-eM § ¢, gy |

A garden pea plant produced axial white flowers. Another of ‘the
same species produced terminal violet flowers. Identify the dominant
traits.

ING tadsl (Fefofes FAad) T A9 Iwa # darfed 929 F 39Am
I = SR oA B ?

Why is it desirable to use unleaded petrol in vehicles fitted with
catalytic converters ?

Tl § omfies  (GREM) AW WET @ TR S @ 2 SEH | & g,
fafaw |

Where is acrosome present in humans ? Write its function.
Frafafes & 9w fafae :

(a) HYEE-UIEH & fOU Iugwh Geifys w=iE: 9§ SR Tl AYEeE wis
(b) N H FE T IAG F W T

Write the name of the following

(@) The most common species of bees suitable for apiculture

(b) An improved breed of chicken
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T % TE T W % tE % a9 w93 aeh ev W R @R
g ¥ def ¥ 39 gumar ¥ = fGud fAEen 9 e ?

Comment on the similarity between the wing of a cockroach and the
wing of a bird. What do you infer from the above, with reference to
evolution ?

TF JA9-39@ % ®Y § fouAmeifar # gfFer sy

Mention the role of cyanobacteria as a biofertiliser.

(a)
(b)
(a)
(b)

T B
SECTION B
T HFEHY (IfFAaEE) & U6 T aWiea 3G §9RT |
® A A 2 W R F E T TRy T 3§ 99§ @ 2
Draw a neat labelled diagram of a nucleosome.

Mention what enables histones to acquire a positive charge.

ST T (FRARITH) & TE O a9 TH AW TRy |

State one advantage and one disadvantage of cleistogamy.

(a)
(b)
(a)
(b)

(a)

(b)

TEl # e ¥ faw w1 oy FR=i ¥ A R 2
T RyEl @ A g (FdE) 1 99 U 7 eEl @ 2
Where do the signals for parturition originate from in humans ?

Why is it important to feed the newborn babies on colostrum ?

o-TAFRIGEST CART & 9 & R ¥4 T T T difsa i F g
AR aBF (FRT) B W @ F IR @Y v @ ™ R oo
fafy & fava § oogmsu e 0 @IFE SAMHE @ IR-GERE S
¥ e T & H gEEd Hed ® )

T99 T4 T 39 [ F = “fHash fafsega”’ =i %' s @ 2
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14.

15.

(a) A recombinant vector with a gene of interest inserted within the
gene of a-galactosidase enzyme, is introduced into a bacterium.
Explain the method that would help in selection of recombinant

colonies from non-recombinant ones.

(b) Why is this method of selection referred to as “insertional
inactivation” ?

TS IRV o4 gU GHERY fF ave uweifgar Y @ed €

Explain brood parasitism with the help of an example.

frefafEd & favg # y@% &1 FROT F@ET :

(a) WM IV IR e & A fead A F

(b) T3 A& N 5 mynfeed F AR O Tl S R

Give reasons for the following

(a) The human testes are located outside the abdominal cavity.

(b) Some organisms like honey-bees are called parthenogenetic
animals.

e 69 98 ¥ W g @, 99 gy | 39 gEeEn & gl & TR R TR
e g # 2

Jgan
e Howw 9R e adeet (femeeedl) & & faww wed & am fafeg
T SRR § S - qfrw fFY yer firw ot @ 2
Name the plant source of ganja. How does it affect the body of the
abuser ?

OR

Name the two special types of lymphocytes in humans. How do they
differ in their roles in immune response ?
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16. (a) HEEl ¥ ADA & 37WF & T SR 2l 8 991 IH IWE & HRU HHA
-7 yfaa B @ 2
(b) 3IF T@F @AFRN) F W fofgr 5/ g=al §# ADA-DNA & Sidshdf
FivmRl § wrala 60 ¥ S99 5 ST @ | I S arel iy
F A faf@w | 2

(a) Mention the cause and the body system affected by ADA
deficiency in humans.

(b) Name the vector used for transferring ADA-DNA into the
recipient cells in humans. Name the recipient cells.

17. e & @fes 4o fafa erwe @m 3 wfes 3rafire & 393 @ 1 ach
qad qgdl Sl 99E & 69 SHR gauE e ? 2

How did Ahmed Khan, plastic sacks manufacturer from Bangalore,
solve the ever-increasing problem of accumulating plastic waste ?

18. A FER (TAERE) W A I Ry & W e | Tl
Mgl fafEe | 98 I o AR 95 9 gaid e & 2 2

Name the bacterium that causes typhoid. Mention two diagnostic
symptoms. How is this disease transmitted to others ?

gue C
SECTION C
19. (a) ABRQ T g & QW od gL 95 Qeiodl ad1 Fewradr &t IReean
THEIZT |
(b) fefafes & TEEY (HEEY) FART :
(i) Wi
(gt 7 3

(a) Explain the phenomena of multiple allelism and co-dominance
taking ABO blood group as an example.

(b) ~What is the phenotype of the following :
i) A
(i) ez
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20.

21.

22.

23.

24.

e Fen vgA (Fifasn) ¥ BfdA & IHfos 0T & 7a @ fFE w@ER §AdR
frerar 2 ? GRERT |

How does industrial melanism support Darwin’s theory of Natural
Selection ? Explain.

(a) TAfYRET & &ifea ¥ ok 39 T9-7R a2 gT TN & WEAd F § Fgad
A ¥ ffeq wdFm 1 7 A € 2

(b) T # 3§ WIHA F IO H TEAA F I T &G gEAET |

(a) What is the programme called that is involved in improving
success rate of production of desired hybrid and herd size of
cattle ?

(b)  Explain the method used for carrying this programme for cows.

frafafes # ¥ v9F &1 &4 GHART :

(a) HEiFE-9I (HIfA@Us)

(b) Ty &g

() 7 fog

Explain the function of each of the following
(a) Coleorhiza

(b)  Umbilical cord

(¢) Germ pores

fidims o9 dFM (PCR) & 3937 &d gC el T aiedd oA 43 &1 vasq
g weR fFar s g 2

How is the amplification of a gene sample of interest carried out
using Polymerase Chain Reaction (PCR) ?

fedt d%fla A1e OB EY B F1@ 9 W HE TR ¥ gofE gEhd 1 Sfeq-9%
¥ goadr o 2, fafEn |

Trace the life-cycle of malarial parasite in the human body when
bitten by an infected female Anopheles.
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Frea
E. coli # 7% 3MGA & iR @A 9 fF yer wiFg ganm & € ?

List the salient features of double helix structure of DNA.
OR

How are the structural genes activated in the lac operon in E. coli ?

26. I TP Wi oTfE EmmE g & 3R T winiy & fau w @
9 | fFe 0T TN F TgEd ¥ I FI9 H YWIvG HST | 3

Alien species are highly invasive and are a threat to indigenous
species. Substantiate this statement with any three examples.

27. (a) ForEetmEd @A ¥ AW A W dErg H Gl H 9 &fa @t @ |
W OIGT F A B 1 F I R I A oFifa & AW fafae sk

ST ot |
(b) Tmg & g A feedt Aoe-fRe W R Ay =R & O swna
IR g a'F () F AW fafae | 3

(a) Tobacco plants are damaged severely when infested with
Meloidegyne incognitia. Name and explain the strategy that is
adopted to stop this infestation.

(b) Name the vector used for introducing the nematode specific gene
in tobacco plant.

@g D
SECTION D

28. (a) 3EH TfF aW TWed & UH-UH IIEW ool HART fob 39 1 @
So-fafawar & w7 frw wer g€ 2

(b) o-fafawar F Tww 1 o 7 fafugi wugisT 5

Hgar

8



EDUGROSS

www.edugrooss.com

WISDOMISING KNOWLEDGE

29.

(a)

(b)

(a)

RIS (LITHR) § A H [iwtor 9 glar 8 7 399 919
Staq W = T9F TS 7 7

fRll Som @a-3Ee & W) DDT & Ja-aadq few y&R ol @,
TIFRY | O 8 ¥ ufydl & gufy f&9 yer ywfad @ @ 2

Taking one example each of habitat loss and fragmentation,
explain how are the two responsible for biodiversity loss.

Explain two different ways of biodiversity conservation.
OR

What depletes ozone in the stratosphere ? How does this affect
human life ?

Explain biomagnification of DDT in an aquatic food chain. How
does it affect the bird population ?

MNMRRETRLIATd S T aeg 7 § 2R aet 3=nr geTei #
Fuaa <Y T @

(b)

(c)
(d)

(a)

(b)

IW s far @t vgwm S el sidw sgfeawn <efar mn @ @ 39 digy
(frezed) gl & 9w fafae fred sga a4 wafaa & € |

g gfean & fafim simaE s JoRY | @ 50 Mg fF R
yuifed giar @ 2 39 & et =i 7 2

“d” 7 “e” FEmell H T AW 7 ?
AT e F TF @5 AFiha ARG aRT |
gan

wgadl (HfEesd) § 8t feeT F1 R few w0 S R 0
Tqh fifeq SRt ® Qe (Tkd) SR |

f&eft v ofar yoidiT CEeTR @S & L.S. F @ Amifea M@ AR |
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30.

The following is the illustration of the sequence of ovarian events
“a” to “i” in a human female

(a)

(b)

(c)

(d)

(a)

(b)

& B

Identify the figure that illustrates corpus luteum and name the
pituitary hormone that influences its formation.

Specify the endocrine function of corpus luteum. How does it
influence the uterus ? Why is it essential ?

What is the difference between “d” and “e” ?

Draw a neat labelled sketch of Graafian follicle.

OR

Why is fertilisation in an angiosperm referred to as double
fertilisation ? Mention the ploidy of the cells involved.

Draw a neat labelled sketch of L.S. of an endospermous monocot
seed.

wefle fiffy s Pelsirsy 7@+ W faw @ yam & avi7 Fifse | 3EF T

fram e fspd &1 faea N | 5
FerE

(a) . UEGA Gersan W detu & O & U f9Es (32) ¥ ¥9 H g TS
CFF GHOT FHIRT | 3 W0 & F, 9 9% # O o @y
FST |

(b) TH YFR F T ¥ R 1 THT a9 dumh FEE @988 ¥ §,
feifa

() faua 9 § Fy, § & owvwedt oo fFe yawR i 8 @ 2

10
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Describe Frederick Griffith’s experiment on Streptococcus pneumoniae.
Discuss the conclusion he arrived at.

OR

(a) Explain a monohybrid cross taking seed coat colour as a trait in

Pisum sativum. Work out the cross upto F, generation.

(b) State the laws of inheritance that can be derived from such a cross.

(c) How is the phenotypic ratio of Fy generation different in a dihybrid

cross ?



